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sglite> select employee.name, department.name from employee,department
where employee.dep_id = department.dep_id;

= T ORER |2

Ny} = {,_‘\\ v -~ /,

SR REMES  TH D RO LEIRDEIE

LA BT | #FEER

= R A employeeZx department3®

sqlite> ('E001','& T AXER','M',52000,'1974-01-01','D2'); ('D1','¥8F5ER";
(‘E002','¥& FTEF','F',45000,'1979-04-01','D1'); ('D2',{ZIEER";
('E003','$R A X ER','M',38000,'1981-04-01','D3'); ('D3', B EER);
('Eco4',' LB BJI','F',27000,'1993-04-01','D2"); ('D4','BAFER");

('E00S',' =% =','M',36000,/1984-09-01','D3');
(‘E005 " {Z & EEF'/F,32000,1991-03-01’,null); < FRENALY

sqlite> select employee.name, department.name from employee left outer join department on employee.dep _id =
department.dep_id;
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sqlite>



=k 15 B K =/
sqlite> select sum(salary), avg(salary), max(salary), min(salary) from employee;
230000|38333.3333333333|52000(27000

sqlite> L
E001','& £ ER','M',52000,'1974-01-01','D2');

(
(‘E002','#&FH{EF','F',45000,'1979-04-01','D1");
('E003','#5 AR ER','M'|38000|,'1981-04-01','D3');
(‘Eco4',' LA B;T','F',27000,'1993-04-01','D2');
('E005',' @& =','M',36(/00,1984-09-01','D3');
(‘E005“{EREEEF'/F,32000,1991-03-01",null);
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sqlite> select gender, avg(salary) from employee group by gender;

F|34666.6666666667 ETCDT—REEZHZ
M |42000.0

sqlite> update employee set salary = salary * 1.5;

sqlite> sqlite> select * from employee;
E001| & T AER|M|175500|1974-01-01|D2
R - E002 | #%H{EF|F|151875|1979-04-01|D1
— =

TIEESHRA ¢ E003 | 5 AKX ER | M|135000|1981-04-01|D3
sqlite> update employee set salary = 40000 where emp_id = 'E003’; E004| LA BT |F|91125]1993-04-01|D2
sqlite> select salary from employee where emp_id = 'E003’; EOO5 | 5% %|M|121500|1984-09-01|D3
40000 <E=H#Z DMEE E006 | { & B8 F | F| 108000| 1994-09-01 |

sqlite> sqlite>



	Slide 1
	Slide 2

